% MHF 4U0 Semester 2, 2008 - 2009
Grade 12 Advanced Functions (University Preparation)
Unit 3 — Major Test on Rational Functlons
e Mt Uil T ) T
Vtcttm. C f}? [4na| 2222 | 1T n7| lono
. Match each ﬁmctmn with its graph (4 KU)
x+ 4 D x= -2 LR VE=: A T e & “d
' 2x+5 i 4
12 R >
zx o 4 CQ('Z";;) R S X %
b) m(x) = = = 9 ],ig) —6—4~2°246 % -4-29 "2 4 &
(x) =3 "R M, ot (ha i ]
L -4
<) f(x) :j ‘\/A, .x;l HA‘ Y:O 163 -6
2 B fs ¥ D 6] yn‘-
d g(x) = S A -3, HA: y=2 o o
% 1| M g
B A b) ‘ 3510 ~% = O 2 4 6
i —1\‘
—1; P |
©) D d) B 5 “4
Complete the followmg table. (10 KU, 6 APP)
E gii:i?;i;?; Characteristics of Function Graph
_ 10}
Zeros: HOV!(_’/ As x>, f(x) <5 C ) : i
1 ko) E
y-intercept: ____ A As x> -, f(x) ——>_Q T e
= 4t
. 42 Dt g'Xé[’K);?(-F;Q Asx—=>3", f(x)—)_ﬂ - i
f x)= Al | i e O 1 i
' x*-x-6 + -*fh_-ﬁ'f&“b__
L2y | Range: fyéﬂ?.‘\/;eoz As x—3 ,f(x)->_~_+0i | Ao
(M’“—g) g As x> -1, f(x)>_ ¥ ™
I e Asymptote(s): _X= ® | Bl
- b) 3 -_—— -
A ?(-#3 \/:O As x—>-1", f(x)—) S hb{gt(f’ -8:
2 =t 10l v
-12x-3 RS S AAX= 2
! _ . © 3 M I [y PN
1 f(x) 6x_6 | Zeros: = As w-neoy £ )= —(;L a_ﬂ‘ LA
i 8t 1" Ga—p
primeroep_ & 2 off
: , As x>0, f(x)— Ml
| Domain: E?(ég %#' 2y ]:
ST
e e ‘Rangez_\/éﬁ Y¢2¥Asx41 f(x)—> i_og 4...’...__.__7?_,_:_.__,__3 >a
. | 4! Y3~
i | App |- i xX= =
! ‘ AS tote(s): l y = gl
{ | Tips |- | B As x=1%, f(x)%_g '6'.
E Com |— 2 7 i RNy




3. Solve.
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. As the date of the MHF4UO exam drew nearer, Manavjot and Niroj became increasingly nervous. To help relieve their
stress, they decided to walk along a straight line on which Mr. Nolfi had marked an origin.

At the time ¢ seconds,

and

Niroj’s distance from the origin is given by the function s, (t) = 127 ;
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Manavjot’s distance from the origin is given by the function s,, (1) =1+ e
+

(2} At what time(s) do Niroj and Manavjot collide? (4 TIPS)
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6. Three employees work at a shipping warehouse. Paco can fill an order two minutes faster than Tom but Carl fills an order
one minute slower than Tom. When Tom and Paco work together they can fill an order in one minute and twenty seconds.

When Paco and Carl work together, they take one minute and thirty seconds to fill an order. N
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